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CHol: XEE BRAESH =LY
SA - C(3H) - NRAY - B Ofl &k B HRE2
p 72000 0 72,000
01 HXSHBLBES 44,000 0 44,000
OadEst2ZIZ2NH SHXH 44,000 0 44,000
| 44,000 0 44,000
25 U ABYE L2.54 891,000 611,000 280,000
308 X XI 1R S 0 729,000 509,000 220,000
01 HXSHBLBES 729,000 509,000 220,000
OO0kt 223 4 T& 200,000 0 200,000
Odd AZUET SSHY 20,000 0 20,000
403 THXI €+ S XH2 0| & 60,000 0 60,000
01 UXISH =L E 60,000 0 60,000
OHWZTHAEIY AlZIHEAIS 20,000 0 20,000
OB SA23HM AlEIHEAL 40,000 0 40,000
Zo2ZEH |4 - XN (212) 972,400 0 972,400
| 748,000 0 748,000
= 224,400 0 224,400
308 At XIHHMSOIH 972,400 0 972,400
| 748,000 0 748,000
= 224,400 0 224,400
01 IXEHBEAELS 972,400 0 972,400
O=st2Zd=H SRS 972,400 0 972,400
| 748,000 0 748,000
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